	103.  
	In Fig. 27-83 , [image: http://edugen.wiley.com/edugen/courses/crs1650/art/math/halliday8019c27/math310.gif], and [image: http://edugen.wiley.com/edugen/courses/crs1650/art/math/halliday8019c27/math302.gif]. What are the (a) size and (b) direction (up or down) of the current through resistance 1, the (c) size and (d) direction of the current through resistance 2, and the (e) size and (f) direction of the current through battery 2? 
	[image: http://edugen.wiley.com/edugen/courses/crs1650/art/common/pixel.gif]
		[image: http://edugen.wiley.com/edugen/courses/crs1650/art/common/pixel.gif]
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	[image: http://edugen.wiley.com/edugen/courses/crs1650/art/images/halliday8019c27/image_t/tfg083.gif]













	











	•••26.  
	Figure 25-42 displays a 12.0 battery and three uncharged capacitors of capacitances C1 = 4.00 [image: http://edugen.wiley.com/edugen/courses/crs1650/art/math/halliday8019c25/math139.gif], C2 = 6.00 [image: http://edugen.wiley.com/edugen/courses/crs1650/art/math/halliday8019c25/math139.gif], and C3 = 3.00 [image: http://edugen.wiley.com/edugen/courses/crs1650/art/math/halliday8019c25/math139.gif]. The switch is thrown to the left side until capacitor 1 is fully charged. Then the switch is thrown to the right. What is the final charge on (a) capacitor 1, (b) capacitor 2, and (c) capacitor 3? 
	[image: http://edugen.wiley.com/edugen/courses/crs1650/art/common/pixel.gif]
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